Q1.

 

This graph shows the temperature in °C from 2 am to 3 pm on a cold day.
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How many degrees warmer was it at 3 pm than at 3 am?
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1 mark

At 6 pm the temperature was 4 degrees lower than at 3 pm.

What was the temperature at 6 pm?
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1 mark

Q2.

 

This chart shows the population of Cornwall from 1950 to 2010.
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Look at the chart.

In which year did the population first reach 400,000?
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1 mark

How much did the population increase from 1950 to 2000?
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1 mark

What was the population of Cornwall in 2010?
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Q3.

 

This graph shows how the temperature changed in Liam’s room one afternoon. 
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Estimate the temperature at 3:15pm. 
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1 mark

Estimate the time when the temperature was highest. 
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1 mark

How much did the temperature change from 2pm to 2:30pm? Give your answer to the nearest degree. 
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1 mark

Q4.

 

How fast you can type accurately is called your typing speed.

The regions of the graph show information about different typing speeds.
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Darren’s level of typing is elementary.

In 20 minutes he should be able to type between 500 and 700 words.

 

Jo’s level of typing is intermediate.

How many words should she be able to type in 20 minutes?

 

Between ________________ and _________________

1 mark

Kath’s typing speed is 30 words per minute.

What level is Kath’s typing? 
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1 mark 

Q5.
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This graph shows the height of a balloon at different times.

 

[image: image18.jpg]60

50

40

Heightin 5o

metres

20

10

0 10 20 30 40 50 60 70 80
Time in seconds



 

From the graph, find the height of the balloon at 50 seconds.
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1 mark

Use the graph to find out how long it took the balloon to rise from 30 metres to 60 metres.
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1 mark

Q6.

 

500 children started a 20 kilometre sponsored cycle ride.

This graph shows how far they cycled.
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At what distance were exactly half of the children still cycling?
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1 mark

Estimate how many children completed the 20 kilometre cycle ride.
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1 mark

Q7.

 

150 people take part in a walk.

This chart shows the number of people still walking at different times.
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Use the chart to estimate the time when two-thirds of the people are still on the walk.
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1 mark

What percentage of the people who started are still on the walk at 3pm?
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2 marks

Q8.

 

Two telephone companies, Supertalk and Quickline, have different charges for long distance calls.

This graph shows the charges for different lengths of calls.
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Estimate from the graph how many seconds longer a £2 call lasts with Supertalk compared to Quickline.
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1 mark

Estimate from the graph the length of a call when Quickline becomes cheaper to use than Supertalk.

Give your answer to the nearest 10 seconds.
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1 mark

Q9.

 

This is a graph of a firework rocket, showing its height at different times.
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Estimate from the graph for how many seconds the rocket is more than 20 metres above the ground.
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1 mark

Estimate from the graph how many metres the rocket falls in the last second of its flight.

[image: image32.jpg]


 

1 mark
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